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2 & (Structured Programming)

IEZII__JF) gml__?) LI | EF_?_}
= + 0| 0| E
O

= X Zdstd, O o =22 g7

o A X|ek =2 32 (Object—0Oriented Prog.)
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° 20X (Object)

RR=FEIPN (Class)

Person

Student

Professor
o ZHA (Object)
« X = =M (attributes) + & 2| (behaviors)
. => B Z=(variables) + M| 2=~=(methods)
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powerOn() ) moveHome()
stop() ~setCleaningPower()
move() ~warnGarbageFull()

CleaningRobot robotl = new CleaningRobot(* < & 21 Al ")
CleaningRobot robot2 = new CleaningRobot(*S & &1 &™)

robotl

robotl
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2l A in Java

o CleaningRobot 2 A 2| o

public class CleaningRobot
{
private int status; // 0:off, 1:stop, 2:move, 3:pause
private int positionX;
private int positionY;
private int cleaningPower;

public int powerOn() {.
public int stop() {.
public int move() {
public int moveHome() {...}
public int setCleaningPower() {...}
public int warnGarbageFull {...}
public static void main() {...}

3
3
3

}
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H| M| X| (Message)

7H '.|| o| =3 digH
1 _— - O Hd
« ot A= CHE A A HAMXE B 452HS

o MM X| & Message Passing)

. ZHS Afolo| HEE WEE 4 A FYUS
s SFAH T CIE A S at+E e 2 25

o M A[X]2| & El

« AN ML= s Stelo]H)
o HA[X[ 2] of

= robot.move()
= robot.move( NORTH, 5 );
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Al

Super Class Super Class
| Generalization | Generalization
Sub Class Specialization Sub Class Specialization
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AtZ=(Inheritance)

o Aol of
powerOn() mOVGHome()
C)EI I:II_I-&Il OI_ > ‘ %I _J|\_
22X stop() ~setCleaningPower() =% 2|
ssd 2 ' ) Exs)o
move() ~warnGarbageFull()
o Extends! boweron()
L Robot | s
4 move()
CleaningRobot extends Robot extends

moveHome()
_ setCleaningPower()

warnGarbageFull()
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At==(Inheritance)

o AtHpol| A2l Ak
public class Robot

{

}

private int status; // 0:off, 1:stop, 2:move, 3:pause
private int positionX;

private int positionY;

public int powerOn() {.
public int stop() {.
public int move() {
public static void main() {...}

3
)
-}

public class CleaningRobot extends Robot

{

}

2013-10-01

private int cleaningPower;

public int moveHome() {...}
public int setCleaningPower() {...}
public int warnGarbageFull {...}
public static void main() {...}



AtZ=(Inheritance)

Object EE'—H* £ é,V*?:,
java.lang.Object 2 AE &%

Object Super Class
s S e
s ~
7/ N
7’ ~
4' ~ -
Super Class Super Class

Generahzatlon

Sub Class Specialization
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H| ‘M (Encapsulation)

o Mo
AR
« YL HAEES stHte| 7| X2 [, X 2| ALSAtZ FH
Clolee] W& Feis 57 |= A
« OOlH= BX| HAa=E SollMEE 43 2E o+ AUS
o 24 e =5
« WF Tl A Al MEMHE ST E
|
— powerOn
o o0 el & o |
- = sto
. 2RO UF REo| W3 -
. QE AIRA= T2 A move status
| i
=22 moveHome pOS!t!OnX
[ positionY
set(:leaningPo}\Ner
|
warnGarbagefull
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HA, Sl

o T2 A|AE 2 o
= A}
= item, order, shipping address, payment, account
= lead to the classes Item,Order,Shipping,and so on

= SA

= add”, “ship”, “cancel”, “apply”
= lead to the methods add,ship,cancel,and so on
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}

I class Bicycle {

// the Bicycle class has
// three fields

public int cadence;
public int gear;

public int speed;

/1 the Bicycle class has

// one constructor

public Bicycle(int startCadence, int startSpeed, int startGear) {
gear = startGear;
cadence = startCadence;
speed = startSpeed;

}

/1 the Bicycle class has

// four methods

public void setCadence(int newValue) {
cadence = newValue;

}

public void setGear(int newValue) {
gear = newValue;

}

public void applyBrake(int decrement) {
speed -= decrement;

}

public void speedUp(int increment) {
speed += increment;

}

2013-10-01

Off il

public class MountainBike extends Bicycle {

}

// the MountainBike subclass has
// one field
public int seatHeight;

// the MountainBike subclass has
// one constructor
public MountainBike(int startHeight, int startCadence,
int startSpeed, int startGear) {
super(startCadence, startSpeed, startGear);
seatHeight = startHeight;

}

// the MountainBike subclass has

// one method

public void setHeight(int newValue) {
seatHeight = newValue;

}



